
ESS1001: mbg;gilf; fzpjk; - 2021/22 

Assignment 2 

 

midj;J tpdhf;fSf;Fk; tpilaspf;Ff. 28.08.2023 jpq;fl;fpoik khiy 4.00 kzpf;F 
Kd;duhf nghUspay; kw;Wk; Gs;sptpgutpay; Jiwapy; ckJ xg;gilapid xg;gilf;Ff. 

,Wjp jpfjpf;Fg; gpd;du;; rkHgpf;fg;gLk; ve;jnthU xg;gilAk; ftdj;jpw;nfhs;sg;gl 
khl;lhJ. 

1.  rkdpypia RUf;Ff. 
 a. 2x + 3 < 4x + 7 

 
 b.  |5x – 1|≤ 9 vDk; rkdpypiaj; jPu;j;J> jPu;tpid vz;Nfhl;by; tiuf. 

 
   

2. a. rupT = 5 MfTk; ,ilntl;L = -2 MfTk; cs;s Neu;Nfhl;Lr; rkd;ghl;bid 
rupT-,ilntl;L tbtj;jpy; vOjp> mjw;fhd tiugpid cUthf;Ff. 

 b. y = 2x – 7 vd;Dk; rkd;ghl;bd; rupT kw;Wk; y-,ilntl;bidf; fz;lwpe;J> 
mjw;fhd tiugpid cUthf;Ff.  
 

   

3.  (3> 2) vd;w xU Gs;spiaAk; rupT 5 ,idAk; nfhz;bUf;Fk; Nfhl;bd; 
rkd;ghl;bidAk; mjd; y-,ilntl;bidAk; fhz;f.  
 

   

4.  (2> 7) kw;Wk; (8> 9) Gs;spfSf;$lhfr; nry;Yk; Nfhl;bd; ruptpidf; fhz;f.  
 

   

5.  gpd;tUk; Gs;spfs; 3x + y = 4  vd;Dk; rkd;ghl;bd; tiuglj;jpy; cs;sdth 
vd;gijj; jPu;khdpf;Ff. 
 

 a. (0, 2) 
 b. (-2, 10) 
   

6.  

 

a. 

 

 

 

b. 

 

 

c. 

gpd;tUk; xt;nthU jhaj;jpd; msitAk;> jhaj;jpd; tifiaAk; ngaupLf. 

𝐴 = [

0
2
4

] 

 

𝐵 = [
1 0 −1
3 2 5
6 4 1

] 

 

𝐶 = [
1 0 0
0 1 0
0 0 1

] 

 



7.  
 𝑆 = [

1 −4
5 3

]  vdTk; 𝑇 = [
2𝑥 𝑤

𝑧 − 2 𝑘 + 1
]  vdTk; fUJf. S kw;Wk; T jhaq;fs; 

rkkhf ,Ue;jhy;> x, w, z, kw;Wk; k ,d; ngWkjpfisf; fz;lwpf. 
 

   
8.  

 
 

 

a. 

b. 

c. 

𝐴 = [
−1 3
1 4

]  , B= [
1 3
5 −2

] , kw;Wk; 𝐶 = [
0 1 −3
4 2 5

] vdf; fUJf. gpd;tUk; 

ngUf;fy;fs; xt;nthd;iwAk; fz;lwpf.  
 
AB 
AC 
CA 
 

   
9. 
 

 
𝐴 = [

2 3
−1 4

] MfTs;sNghJ NeHkhw;Wj; jhak; A-1  If; fz;lwpf. 

 
   
10.  ,uz;L nghUl;fSf;fhd rkepiy tpiyfs; P1  ck; P2 ck; gpd;tUk; 

rkd;ghLfis jpUg;jp nra;fpd;wd:  
−4P1 + P2 = −13  
  2P1 − 5P2 = −7  

 
,e;j Kiwikapid jha tbtpy; ntspg;gLj;JtJld; P1 kw;Wk; P2 ,d; 
ngWkjpfisf; fz;lwpf.  
 

 

 
 

 

 
 


